Year 4 - Numeracy— Week 4 — Choose either worksheet to complete

\Multiplicution and Division
Word Problems

1. How many wheels would
11 motorbikes have?
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2. If 7 taxis arrive at
the party at the same
time, each carrying 5
passengers, how many
guests arrive at once?

g-_ g=2

3. While playing o dice
game, Robert managed
to throw nine 55 in a
row. How many did
he score altogether?

& All four judges gave
the dancer a score of
10. How many did she
score altogether?

5. 12 people came to the
show and they paid $5
each. How much were the
ticket sales altogether?

6. Onawet day, the
teacher finds 32 wellies.
How many children
will be able to wear
one on each foot?

7. Sam is sharing biscuits
between himself and his
four brothers. If there
are 25 in the pack, how
many will they each get?

8. A machine making sweets
puts 10 in each packet.
If the machine has
produced 7O sweets, how
many packets can it fill?
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9. Carol gives half of her
owl collection to her
sister. She has 35 owls
remaining. How many did
she have to start with?
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Year 4 - Numeracy— Week 4 — Choose either worksheet to complete

Two-Step Multiplication
Word Problems

All Multiplication
Challenge Cards

=

I‘I’wofStep Multipli

‘Word Probl all

1. A school manager orders 12 boxes of A%4 paper. Each box
contains 5 reams, with each ream containing 500 sheets
of paper. How many sheets of paper are ordered?

Two-5Step Multiplication Word Problems All Multiplication

2. Apples are cut into 8 pieces to be shared among some
children. Twenty-two bags of seven apples are used.
How many pieces of apple are cut?

Two-Step Multipli ‘Word ALl

3. Asquad of 20 footballers are each given three new pairs

of boots. Each pair has 16 studs. How many studs are
there altogether?

Two-Step Multiplication Word Problems All Multiplication

4. In a dance competition, there are 32 teams. Each team has
8 dancers. Each dancer has five pairs of dancing shoes.
How many pairs of shoes will there be at the competition?
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Word Probl All

5. Each car leaving a factory has 4 new tyres. 29 car
transporters leave with 11 cars on each transporter. How
many tyres are needed for all the cars?

Two-Step Multiplication Word Problems All Multiplication

6. Satsumas are sold in bags of 15. A box of satsumas

contains 9 bags, and they are shipped in crates of 28 boxes.
How many satsumas are in one crate?
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7. A group of school children travel by train. The children
are in compartments of 6 children. Each carriage has 13
compartments and there are 14 carriages on the train.
How many children are on the train?




